10.04 Solving Ekponential Equations Date:

Recall the One-to-One Property of Exponential Functions:
b* =b?if andonly if x = y. -

For this property to work, notice that the bases must be the same.
Examples: Solve each equation. “(x =~12
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There is a similar property of logarithms:
One-to-One Property of Logarithmic Functions:
log, x = logy y if and only if x = y.
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This property also works backwards: if x =y, then logs x = logs y.
This method is often called "taking the log of both sides" and is helpful to solve exponentlal equations.
Examples: Solve each equation.
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